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Math Forum - Problem of the Week

The Teddy Bears' Banquet [Problem #4651]

Ursinus Hotel is one of the world's few hotels just
for bears. The tables in its banquet room are
regular hexagons with room for one seat along
each side. In other words, one table standing
alone seats six bears.

To make more room for dancing at the Teddy Bears' wedding banquet, the staff arranges
the tables in a long row along one side of the room. When they connect two tables
together, here's how the seating looks:

1. How many guests can sit at 10 tables?
) 2. How many guests can sit at 25 tables?
3. How many guests can sit at 100 tables?

Explain how you found your answers and how you know you are right. Describe any patterns that
helped you.

Note: Here is a link to virtual pattern blocks that might help you solve the problem:
http://nlvm.usu.edu/en/nav/frames_asid_170_g_2_t 2.html

Extra 1: Use either words or numbers and symbols to write a rule for calculating the number of
bears that can sit at any given number of tables.

Extra 2: How many tables would it take, arranged in one straight row, to seat 120 bears?
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